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Find the value of the variable(s).
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14. Describe and correct the error in finding CD.
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15. Find the indicated arc or angle measure:
a) mAB b) m/1
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16. The Xs show the positions of two basketball teammates relative to the circle ‘key’ on a
basketball court. The player outside the key passes the ball to the

player on the key. To the nearest tenth of a foot, how long is the pass? X
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17. The circular stone mound in Ireland called Newgrange has a diameter
of 250 feet. A passage 62 feet long leads toward the center of the mound. Find the
perpendicular distance x from the end of the passage to either side of the mound.
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